143-046( 222) (1/1)

143-046

cm

10(20

10(20(30

=3
s
S
o
S
o
S
N
S
o
S
LLLLTLTR

\VAVAVAVAY]
ANAAAN H1-15 1
\YAVAVAVAY] 11212
IAVAYAYAYA

\YAVAVAVAY] 145
JAVAVAVAWAY
(YAYAYAYAY]

Raaas 2
IAAYAYAYA RS 21212
\YAVAVAVAY] -
IAVAYAYAYA
\YAVAVAVAY]
AYAYAVA 3.15

B~

8<o

3.9

\UAYAVAVAY
IAYAYAYAYAY 3.49
\YAVAVAVAY)

ANAAR
VAV 4151
AAA A s
VA T

WYAYAYA
\VAVAVAVAY]
IARAYAVAWAY
\YAVAVAVAY] 15.15 |
IAVAYAYAYA
\YAVAVAVAY] 112
IVAYAVAVA 5.48

N

B~w

~
[EENNNEN]

H
s~
B~

4.9

(VAVAVAVAY] 6.15
IARAYAVAWAY
(VAVAVAVAY] 1]2]2
NAAAN 5.45

(VAVAVAVAY]
NAAA N

]
S~

(VAVAVAVAY]
AYAVAYAYA 111
(VAVAVAVAY] 7.52
NAAAN
(VAVAVAVAY]

H
=R
v

WNw

2.4

NNANN 18.15 | 3 j =
(YAYAYAYAY] =
WYAYAYA 101 [13]33]3. =
\VAVAVAVAY] 8.48

AVAVAVAWAY 4
\YAVAVAVAY)

NAAAN 9.15 ?
. .
O- O 7]18|8|3]| 29

10.45 \\\\\\

10 | 50
11.15 AW =
2020 6 | 2657.7 =
11.41 3
12.15 g =
13[14]15|30| 42
12.45) =
13.15 ?
15(2[15]|30| 5 =
13.45) =
14.15 25 =

30

=
5 \
IS
&
oo
oo
©
~
)
]
LLLELL

15.45
15 | 50

16.15 AN =

2015 7 |27 |55.6 =

16.42 ’///// =

17.15 15 —

7 E

5/5]|5[3] 19 =

17.45 3

18.15 16 —

i E

516|5[3] 14 =

18.45 =

19.15. 17 —

7 =

516]6[3] 17 =

19.45] =

20.15 17 —
/ l

20.45




